il

g
=
s
i

1. ¥¥4
¥4 ST GERE AR RS R RS
JEATST FIE AT ) 1| = RS T Y

2. EBEAR

1) FEF4 FERAT) | [ERE ST R R
2) BT 187 HH H 4&fn 74 6H25H

£ Sf TH12H28H

3) &FEtHM
AEEFSIL, AERREE FHFTE N ORBEAHER T 21T 5 b DO ThH 2,

4) FEHBNA
B R R) OLBb

o ELASEE TN



=oyreay Ij\j =R =B
H 5 FIR =
¥4 | DR TEE  EE SRR E BOES
H H ekt
THH - T - fER] A7 % & KA OB RR
Fagkaxat = 6, 504, 320
Kt =Y 6, 504, 320
TRARER T v 6,504, 320 | FERAHERGH
1 =X
e R
1 =X
et R
1 =X
I5m = 781, 370
Him GREE5) = 781, 370
e = 612,500 | ¥Tat
1 A
DA X 33,450 | MRAEHATHIC L H@E
1 [A]
B R AR ERR = 135,420 | ABARLRSLERL
1 ¥
B = 422,899
PR = 422, 899
Ve Gk - = 45,899 | k& (ZEE E - mRME)
1 =
B R = 377,000 | TFRCRAIERE
1 =
EREEM (ZOMEmER<) = 7,708, 589
Z O FA = 3,923, 344
-1- E A28 SUNHT R



FEH N

%lljll
I

¥4 | DR TEE  EE SRR E BOES
H H — B
THH - T - fER] A7 ¥ = 4 % OB ORR
— R R = 1 6, 258, 067
SERSMRE 2y 1 17, 890, 000
— 2 —

E+sZi@E SN



